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  )أسئلة مستقلة (:التمرين الأول

1
 J�����
א!��#��
א��)

א!+��م
א�*�

א!��#�-
א,��א+����
W
 


2CuCl
،3NaNO
،4FePO
،
3KNO
،3FeCl
 

2
 Jא!���/��م

�0�ن$�
3&�2
א!��1#
א,���ن
�
2
א�*��4
א��*�����3
א�Al +-��2
و
�0�ن
א���5

4SO −K
 

3
 Jא�

א!��#��-�)�&3
�
2
א�*�7
א��*����������א�W
 



 
א�/�9س 
�"و"�
 ،
 
א,4/����م -�#�:&�
 ،
 
א�������م 
0و���� ،
 
א�*�د��م 
�"و"�II
 
א;��� -���5�
 
 ،III

0و���� ،

�"و"
א,4/����م�
،

א!���/��م"���5�
،
�א-
א�������م#

Kא!���/��م، 


4
 J��<
1
א!��#�-
א�=>
��
�����
א!+��م
א��?/�

W�ن 


 
א�/�9س 
�"و"�
 ،
 
א,4/����م -�#�:&�
 ،
 
א�������م 
0و���� ،
 
א�*�د��م 
�"و"�II
 
א;��� -���5�
 
 ،III

0و���� ،


�"و"
א,4/����م�
،

א!���/��م"���5�
،
�א-
א�������م#
،

Kא!���/��م 

5
 J
2�
א,�@א��
�����
���د��
ذو:�ن
א!#�אع
א��������3
א�W
 


2CuCl
،3NaNO
،4FePO
،
3KNO
،3FeCl
 

6
 J
B+و"��Cא

:&و��"�D��+
5��#
HBrK
 

6
 J1
 J
�E:א�&א
�>H Br−ذא؟�,
�EG(�؟��

 

6
 J2
 J؟�D��Hא
IJ>
�
��)
�
&?�
&K�!א
�"Jא�
1>
��
 

6
 J3����Hא
$9Lא�
���M
N�
�"�L/,א
�?�4�O
PQא

ER(��؟�D��Hא
�>

 

7
 J

2�J#34.10 mol−א�/�9س

�"و"�
$�II
2(CuCl )S
Q

9*�ل�
�100
א,�@mLل�

א�$�
K
 

7
 J1
 J�3؟��
א,�UאJ3
�

א,��1����
א��2
א�
 

7
 J2
 Jو:�نJא�
2
א,��د��
א��������3
JCא�
א�K
 

7
 J3
 Jل؟�

א��

א,�+�د�-�#��V�
��

א��א���
א,����
א���W�/�
א�
 


  :التمرين الثاني
4�Xא!�O

�Zز[��#��3NH��Q�Gא�
\]Kא�
B+و"��Cא
�3
אC&م
و
>��ن
ذ"א-R
�4
ذ"�
א!زو-L<
^��
،���&>

X�D��+
���/>
K
 

1
 J
2
`�ذج
�&אم��

א!��#��]�D��+
�K�
(Cram)K
 

2
 JB+و"��Cא

ذ"�$�
��)
�&?�
&K�0

ذ"�
א!زو-
K��3>���
א�P:א�&وא
a#��

bنB:؟�)EG���

א!��#��]�D��H

 

3
 Jc:א�+
�
Q

ER(��؟�D��Hא
�>
K
 

4
 J@�,א
�

Jو:�ن�

א!��#��]��
:�R
&�'
،W���
א�/IJ>

d[ل$�
K
 


  : التمرين الثالث
2�J#1,71gא!���/��م
-���5�

�"א-:
$�
2 4 3Al (SO )S
Q

9*�ل�
500mLل�

א�$�
K
 

1
 J
����
א��2
א�

2 4 3Al (SO )CX�
Q

א!���/��م
א�*�-���5�

�ل�K
 

2
 J

א�
�ل�

א,��א+��-��
א���5-�#��0

א!���/��م
و-�#��0
e���&<

Kא��2 


1E�#
W1 1 1M(Al) 27g.mol ; M(S) 32g.mol ; M(O) 16g.mol− − −= = =
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و
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óibufia@‹–båÈZ

2 4 3 2 4 3

3 2 1 2 2 1

Al (SO ) 4 Al (SO )Al 2C 2.10 mol.l ; SO 3C 3.10 mol.l+ − − − − −= = = =      
 

  :تمرين الرابعال

�3?/�

א!#��ن
و
א���>��ن
א,���ن�'�fg:
2
א!��1#
0و

א�*h�Hא
�4�O
�'�fg:
X
��0

א�Hولhi0W
 



א���>��ن




























א!#��ن 
Na+
 
2Fe +
 
⋯⋯⋯
 
3Al +
 
⋯⋯⋯
 


⋯⋯⋯
 
⋯⋯⋯
 
⋯⋯⋯
 
3FeCl
 

⋯⋯⋯
 
⋯⋯⋯
 


2

4SO −
 

⋯⋯⋯
 
⋯⋯⋯
 
⋯⋯⋯
 
⋯⋯⋯
 
⋯⋯⋯
 


⋯⋯⋯
 
⋯⋯⋯
 
⋯⋯⋯
 
⋯⋯⋯
 
⋯⋯⋯
 
3 2Zn(NO )
 

2

3CO −
 

⋯⋯⋯
 
⋯⋯⋯
 
⋯⋯⋯
 
⋯⋯⋯
 
⋯⋯⋯
 


  :التمرين الخامس
�����
א�Jو:�ن
א�-jد���
hiאW
 


eau
3(l)HNO → +⋯ ⋯
 


eau
2 4 3(s)Fe (SO ) → +⋯ ⋯
 


3eau
(s) (aq) (aq)Al Cl+ −→ +⋯ ⋯
 


2eau
2 3(s) 3 (aq )K CO CO −→ +⋯
 


eau
(g )HCl → +⋯ ⋯
 


2eau
(s) (aq) 4 (aq)Na SO+ −→ +⋯ ⋯
 


  :التمرين السادس
1
 J2�J#
1,17g
�

�"و"
א�*�د��م�
$�
200mLل�
k
S
Q
�*9/'

א,�@،$)�S(K
 

1
 J1
 Jل�

א����&<
)
א��2S(K
 

2
 J1
 J-�#��!א
e���&<

א��2Na+و
Cl−ل�

א��
(S)K
 

2
 Jل�

א� hl�
 )
א��2S(�D'
 $�
 ��"����
 �
+��
 �
 X)O
 2m
 eJא�
100mL
n�o
 
�لk
 S
Q
 
9*�ل�


(S )′���&<
eذ

�"و"
א�*�د��م��3 13.10 mol.L− −K
 

1E�#W
1 1M(Na) 23g.mol ; M(Cl) 35,5g.mol− −= =
 


  :التمرين السابع

�لk
S
Q
&'��#(S)א�(�"��م

�"و"��
2(Ba 2Cl )+ −+���&<
eذ
1C 0,1mol.L−=K
 


1
 JJdp#
3

1V 30cm=ل�

א�$�
(S)
X��b
n�q#
370
وcm&EG,א

א,�@$�K
 



א,��1����
א!��#�-א��2
א�$�
���2Ba 
و+Cl−n�r,א

א�
�ل�
K
 


2
 JJdp#3

2V 40cm=

א�
�ل$�
(S)

א,&�،IJ>
،
X��b
n�q#
310
وcmل�
k
$�(S )′�
��

����
א�eذ
"و"
א�*�د��م
1Cא,��1 0,1mol.L−′ =K
 


-�#��V�
2Baא��2
א��א���
א,���� 
و+Cl−و
Na+P�
sא
�

א,��א+��
K
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óibufia@‹–båÈZ

1

 J
2 2 1Cl 2 Ba 6.10 mol.l− + − −= =      K
 

2
 J2 1 1 2 2 1Na 2.10 mol.l ; Cl 0,18mol.l ; Ba 8.10 mol.l+ − − − − + − −= = =          
 


  :التمرين الثامن
2�J#11,7g
 
و 
א�*�د��م 
�"و"�
$�
14,9g
 
א,�@ $�
��
�
 
א�(�>����م 
�"و"�
$�F
93
�ل
�
 
א�/?��1 hl;א
 5
0ن��#

�>1LKE

 


��3
��د�
א!��#�-�

��د�
א!��#�-−Clא��2=�3�
N�
�?#"�R

א�
�ل
و$�
��
�

א,�+�د�Na+و
K+
v�#
�

א,�+�د�


א�
�ل$�
hl;אK
 

óibufia@‹–båÈZ
n(Cl ) 2 n(Na ) 2 n(K ) 0,4 mol− + += = =
 


  )أسئلة مستقلة: (التمرين التاسع
1
 J
 2�J#27,8g
 �?�3�
א, 
א;��� 
�"א-:
 $�4 2(FeSO ;7H O)
 �0,5L@�,א
 $�

 K-�#��!א
 ���&<
 2Feא��2 +
�



Kא�
�ل 

2
 J

 2�J#10g

א�/�9س 
�"و"�
 $�II
 
א�[���1 
 �0,1L@�,א
 $�

 K-�#��!א
 e���&<
 2Cuא��2 +
 
وCl−

א�
�ل�
Fhl;א
�
w4<

دون\�x

KE#�&ض
0ن
א�Jو:�ن 

3
 J

2�J#25g

א�/�9س-���5�
$�II�
א,X�34 2(CuSO ;nH O)
�1L@�,א
$�
 



0نa3
Q

bذאW2 1Cu 1mol.L+ −=  
2��p'
nF
n1��)z
{�9O

�QEد 

óibufia@‹–båÈZ@ @

1
 J
10,2 mol.L−

،
2
 J2 1Cl 2 Cu 1,48mol.L− + −=       ≃


،

3
 J
n 5=
 

  )أسئلة مستقلة: (التمرين العاشر

1
 J
B+و"��Cא

�"و"�

�Zزhl�

��د
F����|/א�

א�L&وط�
E
I���&<

�لk
S
Q

9*�ل�

א,�@$�
��
�
X�א�[زم
bذא:

�>

א��
�"و"-�#��p:3 110 mol.L− −
K1E�#
W1

mV 22,4L.mol−=
 

2
 J
-�#��0
��3
��د��
3
א��2H O+
X3l�
c�"��"�

א��~3;
1���

�لk
�
3400
א,�+�د�cm
���&<

0ن �3
Q
 ،

3Hא!��#�- O+
�>

<Jא
א�
�ل�
2 110 mol.L− −K
 

óibufia@‹–båÈZ@@@1
 J
3V(HCl) 22,4 cm=




،


2
 J
3

3n(H O ) 4.10 mol+ −=
 

  :التمرين الحادي عشر

1���
א���Lא�
�
�9f�,א

א#(�lس
א,�@�:&�
5��/�
W
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א��א��������
و
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و
א��א�����و�����
و
א��א�����و������و���
 

 

 

 

 

 

 

 


 

 

�:&l�
א����?#
�
�?
3�p:
�
�i
�

0ن
א;�+�)G#K
 

1
 J@�,א
�
B+و"��Cא

�"و"�
2
���د��
ذو:�ن�
א�K
 

2
 Jא
e���&<
2��0#��!-�(aq)H+
)
وaq(Cl−ل�

א��

א,�+�د�
K1E�#
W1

MV 25 L.mol−=
 

GGGGGGGGGGGGGGGGGGGGGGGGGGGGGGGGGGGGGGGGGGGGGGGGGGGGGGGGGGG
 


ðäíîc@kØ‹à@óÍï–@óibnØZ@ @
X�/9�
2+��

�0�ن$�
���ن�
2�&,
�)�/��:(p )+X�/9�
2���

و
�0�ن(q )−W
 



GB9�9O

�Qد�$&4O0
$Q
^9)#mو
n^��
،
Wm.p n.q=F2�&3
�
1
א����دل
א��?&:��1G�GMKE
 

G�'&�
�4
א,&�2،
:�@א
:�!��ن
א,�+2،�O
2��#����,�:
�Rm����,�:
�R�'&�

א!��ن
א����2X�
�
،n

دون
א���"�cذ�
؛
و

B#��!א
=/9�
�bK
 

pbäíîÿa@óïá�mZ@ @

hא��
 

�0�ن
א��
�"و" 

�0�ن
א��
�"و" 

�0�ن
א�5و��" 

�0�ن
א���دو" 


Blא!و��
�0�ن

F0و����E
 

"��
�0�ن
א���5 



א�*��4 
F−
 
Cl−
 
Br−
 
I−
 
2O −
 
2S −
 


 


hא��
 

�0�ن
א�(�>����م 

�0�ن
א,4/����م 

�0�ن
א�������م 

�0�ن
א�(�"��م 

IIس
�0�ن
א�/�9 

�0II�ن
א;��� 



א�*��4 
K+
 

2Mg +
 
2Ca +
 
2Ba +
 
2Cu +
 
2Fe +
 



 


hא��
 

ن
א�*�د��م�0� 
c#א��

�0�ن 

�0�ن
א!���/��م 

�0�ن
א!و��/��م 

�0�ن
א!��#��م 

�0III�ن
א;��� 



א�*��4 
Na+
 
2Zn +
 
3Al +
 
3H O+
 
4NH+
 
3Fe +
 


 


hא��
 

�0�ن
א�/�א- 


�0�ن


א�4/�5/�- 


�0�ن
א��&:�#�- 
-��
�0�ن
א���5 

�0�ن
א������- 



�0�ن

א��C"و���� 



א�*��4 

3NO−
 
4MnO−
 
2

3CO −
 
2

4SO −
 
3

4PO −
 
OH−
 


 


kØ‹¾a@óÍï–@æà@bÔþ�äa@ðäíîc@kØ‹à@â�a@óibnØ@ @

G2א����

א!��ن
א,�+2
و
א!��نS
Q
�&��#
 


G2+�,א

א!��نX�
�

:�@א
:�!��ن
א����2،h�jא
2��#K
 

 

   

      


